[image: image5.png]




=Year 11                    =Probability                    =Worksheet 4
	1. Two fair dice are rolled. What is the probability that a six turns up, given that the faces show different numbers?


	2. A population consists of 52% males and 48% females. 5% of males and 1% of females are colour blind. Find the probability that a colour-blind person from the population is male.
    

	3. Consider events R and S such that
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. Find p if (a)  R and S are mutually exclusive, (b)  R and S are independent.

	4. Five cards are drawn one at a time without replacement from a well shuffled pack of 52 cards. Find the probability of getting (a) exactly 4 diamonds, (b) at least 4 diamonds.



	5. A committee of three is to be selected at random from a meeting consisting of 5 women and 10 men. What is the probability that (a) exactly 2 women are selected, (b) at least one from each sex is selected.


	6. If on average one person in 25 is left-handed, find the probability that among a group of 25 people there is (a) one left-hander (b) at least one left-hander.



	7. A fair die is rolled four times. Find the probability of getting  (a) the outcome 2116 in this order, (b) the outcome 
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 in this order, (c) an outcome with exactly two 1’s.

	8. In a particular poll it was found that 48% of the voting population are Labor voters. If 10 people are selected at random from the population, what is the probability that more than half of them are Labor voters?



	9. A worker has either tea or coffee at morning break. If she has tea one morning, the probability she has tea the next morning is 0.4. If she has coffee one morning, the probability she has coffee the next morning is 0.3. Suppose she has coffee on a Monday morning. Draw a tree diagram showing three days starting from the Monday. 


	10. Refer to Q9. Find the probability that the worker has tea on the following Wednesday morning.

	11. Refer to Q9. If she has tea on the following Wednesday morning, what is the probability that she had tea on the morning before?

	Numerical, algebraic and worded answers.
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1.  1/3


2.  0.844


3.  0.5, 5/6


4.  0.0107, 0.0112


5.  0.2198, 0.7143


6.  0.3754, 0.6396


7.  0.0007716,


     0.01929, 0.1157     


8.  0.3288


10. 0.49


11. 0.429
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